EQUATIONS PRODUITS

EXERCICES 1A

EXERcICE 1A.1

CORRIGE — LA MERCI

(2x+3)(2x+1)=0
< 2X+3=0 ou 2x+1=0
o 2x=-3 ou 2x=-1

3 1
S X=—=0U X=—=

(-x=3)(5x+2)=0

< —X=3 0U 5x=-2

& X=-3 0ou x=—E
5

24

< -—X—-3=0 o0u 5x+2=0

2X(6x—3)=0
< 2Xx=0 ou 6x—-3=0
<= X=0ou 6x=3

(5x+ 1)(7-3xX)(x+2)=0
<=5X+1=00u 7-3x=00u x+2=0
<5x=-10ou—-3x=-70U X=-2

5(2x-4)(x+2)=0

= 2X=40u X=-2

=2X—-4=0o0u x+2=0

-3X(1—-4x)(7x+4)=0
< -3x=00ul-4x=00u 7x—4=0
< X=0o0u —4x=-1ou 7x=4

1 7 < X=2 0U X=-2 1 4
S X=—— 0U X=— 0uU X=-2 < Xx=00U X=— 0U X=—
5 3 S={-2;2 7
S:{—Z;—1 Z} S:{O;l f}
5 3 4 7
EXERCICE 1A.2 AVEC TRANSFORMATION D’ECRITURES
x2-25=0 4x%=1 x2-3=0
= x2-52-0 <:>(2x)2—12:O QXZ_(\/§)2:0
< (x+5)(x-5)=0 & (2x+1)(2x-1) =0 -
< Xx+5=0 ou x-5=0 <:>(X+\/§)(X_\/§):O

< X=-50u x=5

< 2X+1=0 ou 2x-1=0

<= X+4/3=0 ou x—«/§=0

1 1
S ={-5;5} SX=m5 U X=g o x=—/3 ou x=4/3
RE 5= {33}
2 2
3x% - 2x = 7x 7-x%=2 (x-3)2=7
= 3x%-9x=0 —5-x2=0 @(X_3)2_(ﬁ)2:o
2 2
—3x=0 > |
- i <:>(\’j§) -x=0 <:>(x—3+\ﬁ)(x—3—\ﬁ):0

< x(x-3)=0
< Xx=0o0u x-3=0
& Xx=0o0u x=3
S ={0;3}

(BB
<=5+x=0 ou «/g—x:o
o x=-/5 ou x=+5

s ={-\5:5]

<:>x—3+\/7=0 ou x—3—\/7=0
<:>x=3—ﬁ ou x:3+\ﬁ

S :{3_\/7;3+ 7}

(2x=3)(4+7x) +(2x-3)(x+4)=0
<:>(2x—3)[(4+7x)+(x+4)]:0
< (2x-3)[4+Tx+x+4]=

< (2x-3)(8x+8)=0
<8(2x-3)(x+1)=0

0

=

(3x—5)% = (2x—3)(3x = 5)

< (3x-5)[(8x—5)—(2x-3) |=0

(8x—5)[3x—5-2x+3]=0
< (3x-5)(x-2)=0
< 3x-5=0 ou x-2=0




EQUATIONS PRODUITS EXERCICES 1A

< 2X-3=0o0u x+1=0
<S2X=3 ou x=-1

<:>x:§ ou x=-1
2

-

<=3x=50u x=2

<:>x:§ou X=2
3

(2x=1)2=(7x+3)%*=0
< [(2x-1)+(7x+3) |[ (2x-1)—(7x+3) |=0
< [2x-1+7x+3][2x-1-7x-3]=0
< (9x+2)(-5x—-4)=0
< 9x+2=0 ou -5x—-4=0
< 9x=-2 ou —-5x=4

2 4
S X=—= 0U X=—=
9 5

(5x+3)% = 4(2x +5)°
& (5x+3)° —[2(2x+5)]° =0
& (5x+3)° —[4x+10]" =0
< [ (5x+3)+(4x+10) ][ (5x+3)—(4x+10) |=0
& [5x+3+4x+10][5x+3-4x—10]=0
< (9x+13)(x-7)=0
< 9x+13=0 ou x-7=0
< 9Ix=-13 ou x=7

13
<:>x:—§ ou x=7

-3




